CHEM106 Unannounced Quiz 4




Name on back please…
Please show all work and all equations to receive any credit

1. A rock sample has 21% radioactive potassium-40 and 79% argon-40. The half-life of potassium-40 is 1.25 billion years.
a. Write the equation for the nuclear decay reaction that occurs when K-40 radioactively decays into Ar-40.

b. Calculate the rate constant for the radioactive decay of K-40.

c. Assuming that no Ar-40 was present at the time that the rock initially solidified, calculate the age of the rock sample.

d. Determine whether your answer to c makes sense; fully show and explain your thought process.

2. The half-life of rubidium-87 is 47 billion years. Sample A has 25 grams of rubidium-87.  Sample B has 50 grams of rubidium-87. Compare the half-lives of the rubidium-87 in these two samples.

